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1. The volume of the solid generated by revolving the region bounded by the graphs:

1
Y= [E Y= —53: + 4, z =0, z = 8 about the z-axis is equal to:

(a) 48 (correct)
(b) 447
(c) 52
(d) 56
(e) 42

2. The volume of the solid generated by revolving about the y-axis the region bounded
by the graphs:

3

y=2%,y=8z=0

is equal to:

384
(a) =T (correct)

7
200
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3. The arc length of the graph of f(z) = In(sinz) over [ﬂ -

Page 2 of 9

4’ 4

MASTER

] is equal to

(correct)

V241
(a) In (\/5_1)

(b) In(v2+1)
(c) In(v2-1)

(an(w 2‘1)

(e) In (ﬂ\/ﬁ—l_ 1)

2

4, /x3\/x4+1d:c =

(correct)
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5./ = dr =
e T+1

(a) eln(l+¢€")+¢c
(b) In(e*+e)+c
(c) m(e™*+z)+c
(d) éln(l Ll
(e) eIn(l+e™*)+c

1
6.[2Sin'1xda:=
0

(correct)

(a) m—2
@)
(c) 2 sin™}(1)

() sin_2 (1)

(e) T+ 1

(correct)
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3 x
7 / ze2dr =
0

(a) 4 + 2e2 (correct)
(b) 3e?

(c) 3 —1

(d) 2e3 — 1

(e) 3+ 2e?

8. /sin4:1:d:c=

1
(a) %:c = isin 2z + ES'III 4z +c (correct)
3 1
(b) 4z — a—sin?z - l—ﬁsinél:r e
1 1 1
(c) Zx+zsin2w+§sin4z+c
1. :
(d) z—531n2:c— 1631n4:1:+c

1 1
(e) §x+§sin2sv— Esin4zz+c
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tan?
9. / : dr =
secd

PRI |

MASTER

(correct)

(a) 3sin :v—gsinS:c—Fc
(b) %COSSI"—%Sin5.’II+C
(c) %tang':r—%tanﬁxﬁ—c
(d) %sin‘?x—ésinﬁx-i—c
(e) Ecossx—ésin5m+c

3
T
10. f—dx=
V16 — x?

(a ——\/16—:1:2(32-1-3: +c

(correct)

)
(b) —16v16 — 22 + z1/(16 — 22)3 + ¢
(c) 64\/16—$2(:c3+16)+c
(d)
)

d) —4v16 — 22 (16 — z%) +¢
(e) 4v/16 — 22 + (16 — z2)} + ¢
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dz
1. | =
/ (22 + 5)72

x

(a)

C

Page 6 of 9

(correct)

T
5vVz? 45

51
(b)_5" 2+5+c
1

¢) ————————+¢
(€) 5cvVz2+5

ox
(d) vVz2+25

1
(e) =7 22+ 25+ ¢

+c

9 — g°
12, =
/79:3 +z 4

(a) 9ln|z| — :—3-721n(1 + 72} +c
9
(b) 181In|z| — - In(1+ 72%) + ¢

(c) gln(7x3 +z)—z+c

(d) TIn|3—z|+9In|3+z|+In|z|+c

(e) 7TIn(1+7z%) 4+ 9z +c

(correct)




232, Math 102, Major Exam II Page 7 of 9 MASTER

13. ]cothd:c =

a) —cotz—-—2+¢ (correct)
(a)

cot® x
(b) 3 +c

(¢) —cotz+cscz+c
(d) —cscx —2x+c¢
(e) cscx — 2z +c

14. / nzdz =

(a) &t (correct)
(b) e —e
(c) e +e

e2+e
d
W
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o
15. =
/0 1+sin0+0059d9

(a) mIn2 (correct)

16. The surface area that is generated when f(z) = 3z over [0,3] is revolved about
z-axis is equal to:

b) 10m/10
(c) 9710

(d) 36w/10
(e) 29710

(a) 27w \/_ (correct)
(b)
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17. Suppose that f(a) = f(b) = 0 and the second derivative of f exist on the Interval
b
[a,b], then the value of / (x —a)(z —b)f"(z)dz =

(a) 2 / ' f(o) do A
b
(b) (b—a) / f(z) dz

b
© 232 [ f-z)dz

b
@ ¢-a) [ f-o)ds
a b
© 3 [ fe)da

18. If the integral / tan® 92:- dz, is written in the form,

/tan‘:’%dz = atan? g - bt.emz-:zE

Then the value of a + b+ ¢ =

-I-cln]cosgl +C

(a) _g (correct)
) -3
(c) 0
(@ —
7
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